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QUESTION 1

Which of the following is NOT TRUE about the DataStage job score? 

A. It includes the operators automatically inserted at runtime 

B. It helps to determine the number of actual operating system processes 

C. It reports the amount of memory used by the inter-operator transport buffers 

D. It outlines the connection topology between adjacent operators and persistent data sets 

Correct Answer: B 

 

QUESTION 2

How do you create a shared table definition from the DataStage client? 

A. Use the save button on the columns tab of the stage editor 

B. Use the shared table creation wizard from the repository window 

C. Do nothing. They are created automatically when table definitions are imported 

D. It cannot be done within the DataStage client. Use the InfoSphere Metadata Asset Manager (IMAM) utility instead. 

Correct Answer: B 

 

QUESTION 3

In order to use Cognos TM1 Connector, which statement is TRUE? 

A. Installing the Cognos TM1 API component alone is sufficient. 

B. Import the IBM Cognos TM1 certificate and create a property file that stores truststore password 

C. Install the Cognos TM1 API component and create a property file that stores truststore password 

D. Install the Cognos TM1 API component and import the IBM Cognos TM1 certificate and create a property file that
stores truststore password 

Correct Answer: D 

 

QUESTION 4

Which of the following is the default data type for the Aggregator stage during calculation? 

A. Integer 
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B. Double 

C. VarChar 

D. Decimal 

Correct Answer: B 

 

QUESTION 5

Which restructure stage has a single reject link? 

A. Split Vector 

B. Column Import 

C. Make Subrecord 

D. Combine Records 

Correct Answer: D 
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